Efficiency vs P,

~ 0.8

o o

g 07:_ ................................................

3 E

TNV SRR O SIS R

o r : : :

= r : : :

U e R gareneas i
e T
0.3;—  RERIEIE SRERERS ------------
0.22— T R oo
e o
53 LA 3

o LW y T

0.95

=
o
iN

1 10 . Gedf’

—s=— DQM_V0001_R000000001__Global__mkFit_baselinel
—— DQM_V0001_R000000001__Global__mkFit_batch1

= 05

N s
>\0.45:— """""""""""""""""""""" e
e E :
5 04:— ---------------------------------------- .. ......
3] F :
£0.35F [ hereeresdeennbe b e
© E :
0.3;— ------------------------------- Y EEP
0.252_ ........................... 1
02f At Hi-
0.152— ------- o | 55 | R | FERRRS
01;— - E F 5 | SEREEE
005 |- T -
° JVe PO PO [ L T
T r
o [
1__. 4444 4 $04dddd 45 0.4 4 34, .. ...
0985371 0 T 2 3

Efficiency vs ¢

o 05
4
>0.45
0.4
£0.35
(]

0.3

0.25

0.2

clency

L L L A LN RN WL IR LR BN BN B PR RN LR




	Contents
	Page 1


